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Transmon Metal Electron Conﬁguratlon Worksheet

1. Give abbrev1ated electron configurations of the following:
a) Sc atom, Sc** ion b) Zn atom, Zn** ion
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2. Using orbital diagrams, determine the number of unpaired electrons in the following:
a) Cd** b) Cr? -¢) Cu* d) Zr**
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3. Consider the element cobalt (Z=27).
a) Write the electron confi guration of the Co atom and the Co™
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b) Give the orbita] diagram (beyond Ar) for the Co atfgq and the Co®" i
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¢) Give the q_uantum ngmbcrs T'Qr all the déQ]ectrons in the Co atom and the Co* jon. \/\( ' 2
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